Kransekake
Stage 2

How to portion your logs
based on your kransekake mould

If using 18 individual moulds:

Cavity size,
smallest Log length
to largest
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Mould size,
smallest to
largest

Mould 1
Mould 2
Mould 3

Mould 4
Mould 5
Mould 6

If using a 6-piece set of moulds,
comprising 3 cavities per mould.

Log length

Cavity 1=6"
Cavity 2 =12"
Cavity 3=18"

Cavity 1=7"
Cavity 2 =13"
Cavity 3=19"

Cavity 1=8"
Cavity 2 =14"
Cavity 3 = 20"

Cavity1=9"
Cavity 2 =15"
Cavity 3=21"

Cavity 1=10"
Cavity 2 = 16"
Cavity 3 =22"

Cavity 1=11"
Cavity 2 =17"
Cavity 3 = 23"




